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State, which of the following
income 1s exempted from Tax.
(A) Agriculture Income

(B) Interest on govt. securities
(C) Income from salary

(D) Capital gain

Agricultural Income is :-

(A) Taxable

(B) Exempted

(C) Partly Exempted

(D) None of these

A new undertaking is Established

is special Economic zone during

previous year 2015-2016

Deduction index u/s 10 AA is

allowed for :-

(A) S5 year Assement year

(B) 10 Assement year

(C) 8 year Assement year

(D) 15 Assement year

In which section of the Income

Tax Act Exempted incomes have

been mentioned ?

(A) Sec 10

(B) Sec 80C

(C) Sec13

(D) Sec2

The daily allowance received by

Member of Parliament is :-

(A) Exempted

(B) Taxable

(C) To be included in total
income for Tax purpose

(D) None of these

e B9 3 - e B
(A) P Mg

(B) WRON Wil &
(C) 90 ¥ 3

(D) YSiTeT oM

P T B

(A) TR AW

(B) X &

(C) e R ot

(D) T ¥ P Tl

UG 7 IUHH R fear fae anfie
&7 # 99 2015—16 § S GRT 10 AA H
Gl BT o fAer ?

(A) 5 X feRo 9y

(B) 10 I FuR a9

(C) 8 T TR e

(D) 15 99 & fReRor

R HId T BT Joord 6 gRT H & ?
(A) ©RT 10

(B) ©RT 80 C

(C) R 13

(D) NI 2

TS BT 9T IR ARG BT © 7

(A) PR H

(B) X I

(C) IR T W W qd I | AL
ST dTefl 3

(D) ¥ PIg Tl
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6. Tax free 1income from the 6. fefaRad ¥ ax qJad 3 g -
following : (A) ﬁ Ay
(A) Agriculture Income (B) et Wy
(B) Foreign allowance (C) AT B BT Y
(C) Dividend from Indian Co. D) 1 3 &
(D) All of these
7. Exempted Incomes is 7. DR HRT A g -
(A) Income from Domestic Co. (A) Eﬁq\ AT T
(B) Dividend from Domestic Co. (B) W HON Y AT
(C) Dividend from foreign ©) e e et
(D) None of these D) o o B T
8.  Income of minor is Exempted ? 8.  GUWH o B A PR A Bl § 7
(A) Rs 1000/- (A) % 1000/ -
(B) Rs 1500/- (B) & 1500 /-
(C) Income of minor child or Rs (C) T B I A T 1500/ - S
1500, which ever is less I
D) Whole Income
> (D) Tt o
0. Maximum limit of Interest 9. UM ® Addd §9d WA W
Exemption or individual account JHTH AT TR qad 27
in post office saving account is ? (A) & 2500 /-
(A) Rs 2500/- (B) % 3500/-
(B) Rs 3500/-
(C) % 4500/ -
(C) Rs4500/-
(D) Whole amount (D) W NI
10.  Exempted income of a partner  10. WIEER BH W HR Jad AQ & ?
from the firm is : (A) WRER B 9§ 9o
(A) Salary from partnership firm (B) WERR B T @
(B) Interest from partnership firm ©) e Wl @) R
(C) Share of profit in the firm is D) AW
(D) All of these
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11. State which of the following 11. ffafed & & & o & qad 2!
allowances are exempted ? (A) HES
(A) Dearness Allowances (B) TR &ﬁ%chzﬁ T
(B) Clllty compensatory ©) e,
allowances
(C) Foreign Allowance (D) Fafcet
(D) Medical Allowance
12. Education allowance is exempted 12. 3 W= PY—Hdd g
for . (A) T afed & for
(A) One person (B) IR IR @ for
(B) Four person ©) 31 afat & R
(C) Two person : .
(D) None of these ) ¥ 3l T
13. A Government employee received 13.  UH IRHN HHAN DI T a9 H 120000
salary Rs. 120000 and & da9 dUT 10000 & FEARG 9T o
entertainment allowance Rs. 10000 SO ARG R 6000 ® T fHU| I
during the previous year. He spent g 16(ii) § B R
Rs. 6000 on entertainment. He is
_ _ B (A) 10000 &
entitled to deducation u/s 16(i1)
(A) Rs.10000 (B) 6000 ®
(B) Rs.6000 (C) 5000 ®
(C) Rs.5000 D) T3
(D) Nil.
14, Which of the following allowance  14. = # | & & ¥ 3MFIR F qOR:
is totally exempted from income PR H 27
tax ? (A) TETS T
(A) Dearness allowance (B) Her Fx el
(B) Hous.e rent allowance © -
(C) Foreign allowance _
(D) None of these (D) W Bl T
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15. The maximum amount for 15.  T%h WON GHAR P UK FARGH W1l
deduction as entertainment DI Dl DI ARHdH VhH ©
allowance to a government (A) 5000 &
employee is : (B) 7500
(A) Rs. 5000 (©) ¥ I 1/5
(B) Rs. 7500
(C) 1/5 of salary (D) W il
(D) Not atall

16. Deduction allowed from gross 16.  Fhel da9 # ¥ Feldl el @
salary : (A) TG PR
(A) Professional Tax (B) HARGTT Y
(B) Entertainment Tax (C) o &

(C) Income Tax
(D) Insurance Premium (D) T ST

17.  Salary Includes : 17.  da9 ® wfd ©
(A) Wages (A) Hor
(B) Pension (B) o
(C) Commission on sale ©) Rl R B
(D) All of these D) ¥

18.  Salary Includes 18.  Jaq ® ofAd B1d § ¢
(A) Cash Receipts (A) -dhe wIfta
(B) Perquisites (B) 3™
(C) Profit in lieu salary ©) I B Y W
(D) All of these

(D) ¥ T

19. Deduction for entertainment 19. HARGH ¥l &l B Mol @
allowance is availed by : (A) TRHN FHAR B
(A) Govt. Servant (B) NN FHAD P
(B) Non-Govt. Servant ©) (A) T (B) 9 B
(C) Both (A) and (B) D) o A B T
(D) None of these
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20. Interest credited in recognized 20. YHIT Wifdsve WUE W H W A
provident fund account is exempt R g
up to : (A) 8% dd
(A) 8% (B) 9% P
(B) 9%
(C) 9.5% dd
(©) 9.5%
0
D) 10% (D) 10% d®
21.  Value of the facility of Gardner is  21. Tl @ ﬁﬁ%ﬂ PT oI PR-AY BT ©
taxable for : (A) % HHAN & oIy
(A) Every employee (B) fafdre AN B foru
(B) Specified employee (C) e & farg
C) Officer
© _ (D) SRR & forg
(D) Director
22. Reimbursement of medical bills of  22. o0 fafdcareg faan & l;rf%ﬂlﬁ N
a private hospital is exempt upto . qad R
(A) Rs. 8000 (A) 8000 & T
(®) Nil B) T
(C) Rs. 20000
(C) 20000 % P
(D) Rs. 25000
(D) 25000 & T
23.  House Rent allowance is 23. A fHmRr 9=
(A) Fully Exempted (A) Tﬁﬁ: X Had gdr g
(B) Exempted to certain limits (B) Td W1 T% &N qad gdr g
©) Exempte;l in B1§ cities . (C) & TR F P g B
D) Exempte or ovt.
()Elp (D) WHN FHARI & oy &R qad
mployee
BIT ©
24.  What are the Taxes levied an on 24, Y P IR E{flc‘r W 9 GST ST & |
Intra state supply (A) CGST
(A) CGST (B) SGST
(B) SGST (C) CGSTd SGST
(C) CGST or SGST (D) IGST
(D) IGST
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25.  Supply shall attract IGST
(A) Inter-state
(B) Inter-state
(C) (A) and (B) both
(D) None of these

26.  Which of the following taxes well
levied on imports :
(A) CGST
(B) SGST
(C) IGST
(D) CGST or SGST

27.  Zero rated supply includes :
(A) Export of goods/ service
(B) Supply of goods/ service to
SEZ developer/unit
(C) Supply of goods/service to
SEZ developer/unit
(D) Both (A) and (B)
28.  Supply of goods to SEZ unit is
treated as in the hand of supplier ?
(A) Exempt supply reversed of
credit
(B) Demand Taxable supply no
reversed
(C) Export of credit supplier
(D) None taxable supply Out side

the scope of credit

25.

26.

27.

28.

gfif W IGST o1 2|

(A) T B IR

(B) RIS

(©) (A) @ (B) T

(D) T ¥ PR T

A W e § 9 e aR ANy
2?

(A) CGST

(B) SGST

(C) IGST

(D) CGSTd SGST

I R ufd 7w & ?

(A) AT HaRl &1 i

(B) SEZ faoraadl /sars @

(C) SEZ faoriddl/3®E gRT Hid
arett @1 g

(D) (A)T(B) T

SEZ 3@1s @I Ufl @I yfkfeal & forg

M1 I & |

(A) IR q Y- Bl amgl

(B) AWMl TE wxAM Ufd mfec @
R T

(C) faffe fef

(D) R &R IFT Q[-GST & & &
IS
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29.  Which of the following is correct ?

(A)

(B)

©

(D)

Whole Income of Trust is
exempted

Whole Income of Registered
is exempted

Income of trust from defined
charitiable activities  1s
exempt from GST.

Income from registered trust
from defined charitiable

actives is exempt from G.S.T

30.  Which one of the following is

exempt from G.S.T :-

(A)
(B)

©

(D)

Any business exhibition

Any business exhibition in
India
Any business exhibition
outside India

None of these

31.  Which one of the following is

true?

(A)

(B)

©

A person can’t collect Tax
unless he is registered
Registered person not liable
to collect tax bill his
aggregate turn our exceed Rs
20 lacks/10 lacks.

A person caN collect the tax
during the period of his

provisional registration .

(D) Both (A) and (B) correct

29.

30.

31.

fifd & a9 W §
(A) Tl g% @1 FRg0T 3T S U9 <

Y Had © 7

(B) Uullgd g @ W G.S.T ¥
e &7

©) & g @ ffde /gRafta
quref WAt @1 g G.S.T ¥
qerl & 7

(D) &0 woiiga g @ wfafafr
@ AT G.S.T ¥ Had &7
iR % 9 b G.S.T ¥ g &7

(A) BIS AMARID JgI=T

(B) R ¥ IS Aawiich Ygu=!
(C) ¥RA ¥ 9% B3 Y
(D) ®Ig T

feifera # o Wl & °

(A) DS Ifdd IR TIE el P adhdl,
W9 T Uoigd | 8

(B) @IS Afdd o WIT Tal o |,
9 Th Hebel MGIT ¥ 20 g d
® 10 g W ¥ T 7| (S
f AT B )

(C) DT Afdd 3 3RATS GONaRYT &
AR R I R Fhdl 2 |

(D) WY (A) T (B) Tl Wl & |
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32.  Within how many days a person  32. fdad feAl & aex &l afem &t
should apply for registration ? Ui & ford 37desT &eT @Ry ?
(A) Within 60 days from the date (A) TR & o erlt B9 & Ry
he become liable for A 60 T B aree
registration x
(B) Within 30 days from the date (B) @ fore <l & 1 fo
he become liable for W30 feT @ W
registration (C) @IS T e & |
(C) No time limit (D) Uolior & ford <Rl 89 @ fafd
(D) Within 90 days from the date ¥ 00 o7 & o
he become liable for
registration
33. A person having business vertical ~33. @3 Afdd e IJaARF THd Th
in a state certain a separated I H 2| Udd AaRfe by @
registration for each business foro EOE] Tl o 2|
vertical ? (A) TEe o
(A) Single shall
(B) Multiple shall (B) T B
(©) Multiple may (C) & B} AT &
(D) Single may (D) Udd B Fha &l
34. Which one of the following 34. f3=ifhd & & &N @1 b TE |
statements are correct ? (A) G.S.T 3 N Q‘f%@—cﬁ GOl
(A) Volu%tlarily dregiétsrition 1s not T T 2
ossible under .
(B) i person may get himself (B) Y Aol il AT @R
registered voluntarily and Fhar & 3R GST @& Wl
shall comply will all the ICEIGIRGaI JATCT X
o B © st 7
0 an .
ED% None of the above (D) W 1 Pl T
35.  Capital gains is classified into how ~ 35.  UoINId o™ @ fbas UHR # dreT 11
many types ? 27
(A) Two (A) 3
(B) Three B)
(C) Four ©) TN
(D) Five _
(D) "
Series-A LL.B613 /392 Page - 10



36.  Which of the following is not a  36. ¥ # & & &I Yol FHRT T8l & ?
capital assets? (A) AR BT A
(A) Goodwill of business (B) 3T¥0T
(B) Jewellery (C) RS el BT TeRAT
(C) Stock in trade :
(D) Agriculture land in Delhi (D) fewel A ?ﬁ qiﬁ
37. A partnership firm sold a 37. U® ARRER BM A Rerefl 96M 9@
residential house. Under which BH D {69 9RT & 3T <19 dreid
section the firm can get exemption Trﬁ I W TR Y Be e Ty & ?
on long term capital gains ? (A) HRI 54
(A) Sec 54
(B) 91 54D
(B) Sec 54D
(C) Sec 54EC (C) HRT S4EC
(D) Sec 54F (D) @RI 54F
38.  Which of the following would 38. fv # ¥ &9 wT W TuiFa oM
attract capital gains tax? PRI—IY EFT ?
(A) Special Bearer bond, 1991 (A) 9 eRE U, 1991
EB; 6 ‘/ZZ) Golddbond, 1977 B) 6 '/,% Tt 4, 1977
C) Stock in trade
(D) None of these © _ T&-’f%l?ﬂ.
(D) T ¥ P T
39.  The Income from the sole of house 39. Eﬁ?«j\ TR Bl g9 W A ©
hold furniture is . (A) TR-IATY
(A) Taxable Income (B) &R—qad
(B) Exempted Income ©) Tyﬂ .
(C) Capital gains
, (D) 3T o™
(D) Revenue Gains
40.  The Income tax rate on a long term  40. Udh Afdd &I bl 11Trﬁ oM W
capital gains for an individual is faforRad a8 ¥ & o T
(A) 10% (A) 10%
(B) 20% (B) 20%
©) 15% (C) 15%
(D) 30% (D) 30%
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41.  For capital gains being a long term  41. q\Trﬁ A B GEFRIE BH B fow
capital gains, an assessee should IS b U FHERT Y8 a1iRU ¢
retain the asset for a period of (A) 24 98
B 3 monh ®) %7
months
(C) More than 36 moths (€)% e 9 S
(D) 12 months (D) 12 &
42.  Cost inflation index number for 42.  fo a9 2020-21 @ SNSRI aﬁ&’
financial year 2020-21 is HADIS o
(A) 1081 (A) 1081
(B) 1024 (B) 1024
© 272 (C) 212
(D) 301
(D) 301
43. 1In the case of shares, long term  43. 39T &I T § SrdBIIA Trﬁ GRSl
capital gains will arise, if the TIT | BN W9 BY Sl 2 310 U
assesse retains the shares with him Y
for a period of (A) 12 7T J B
(A) Less than 12 months (B) 12 7
(B) 12 Months
(C) More than 12 months © 12 H]’a’ ¥ oo
(D) None of these (D) T | P T
44.  Sum received from the sale of  44. ?fﬁ ij‘ﬁ-[ o fopa 4 o eH B
agricultural land shall be covered fopforRae amg & Ao § g7 AT
under . th.e category of the (A) T’ﬁ .
following income :
(A) Capital gains (B) ?ﬁ S
(B) Agricultural income (C) I\ @l 3y
(C) Business income (D) T4 A ®Ig 78l
(D) None of these
45.  For capital gain being long term  45. q\TrﬂTI_d A B dd@eE BW B forv
capital gain an assesse should IS b U FHERT Y81 a1ieu ¢
retain the asset for a period of : (A) 40 98
o w 5
months
(C) More than 36 months (©) 36 9 S
(D) Less than 36 months (D) 36 & bl
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46. Capital gains arises on : 46. q\Trﬁ ™ Sfed BT B
(A) Business capital (A) @R & C(Kyﬂ 'Fy
(B) Transfer of capital asset (B) T’ﬁ TRy & SR W)
(C) Stock of trade (C) AR A
(D) All of these D) N
47.  Which of the following does not  47. & 9 FIgR BIAR0T Bl 2o H &)
come under the category of IR
transfer (A) e
(A) Gift (B) T
PR © (W) ®)
(C) Both (A) and (B) _ _
(D) None of these (D) T W Bl T
48.  Capital gains on depreciation asset ~ 48. B B dlell GHERTAT Bl Q\Gﬁ AT BT
will always be (A) 3BT
(A) STCG (B) S
(B) LTCG (C) TR
(C) Tax Free : :
(D) None of these ) ¥ 9§ @l T
49. Not a capital asset : 49. Trﬁ Ry T8l 2
(A) Agricultural land situated in (A) T ¥ Rerg ﬁ qif?.[
village (B) R & @Iy
(B) Good will of business (C) AR 5 ST R
(C) Car used for business (D) ST
purposes
(D) Jewellery
50.  Not a capital asset : 50.  Yoil g 7l g
(A) Stock in trade (A) AMRS HIel
(B) House hold furniture (B) Eﬁ(—i HTR
(C) Car for personal use ©) af SUENT & ey BR
(D) All of these D) T ¥
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51.  To find out long term capital gain : 51. <ol q\Trﬁ A B O H S B
(A) Cost of Acquisition ST 2|
(B) Total cost (A) I A B AT
(C) Index cost (B) @t @
(D) Cost of sales © Ao T
(D) fdsha o
52.  Which of the following is not 52. f= & ¥ &9 W W o= AT 9
chargeable to tax under the head g e § gy I8 & ?
‘Income from other sources’? (A) TEHR AR A U SATHIIT
(A) Dividend from a co-operative (B) af T 37 T
SO_Clety (C) MR &I T §o9 W M
(B) Prize on cross-word puzzle _
(C) Profit on sale of the goodwill (D) 4@ ¥ @
of business
(D) Interest from bank
53.  An individual received family 53. U® Afdd @I 60000%w URIR UYIH B
pension of 60000. How much T gV | D el fha) forf?
standard  deduction shall be (A) 20000 %
allowed to him? (B) 25000 %
(A) Rs.20000
(C) 400000 &
(B) Rs.25000
(C) Rs.40000 (D) 15000 %
(D) Rs.15000
54. Under which head pension is 54. W fog e & i a=—arg
taxable : RN
(A) Salaries (A) I
(B) Income from other sources (B) &= Tm = arg
(C) Capital gains :
(D) None of these © Tyﬂw
(D) T ¥ P T
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55.  Income from Sub-Letting of house 55. #HM-wHRT B foRRIER N g
property is : fRR TR IS H I 7
(A) Income from other sources (A) = FRAT ¥ 3
(B) Property Income (B) AGM-THRT ¥ 3
(C) Exempted (C) P—Y&d
(D) Capital gain (D) g\ryﬁ o
56. Salary of a MP will be taxable 56. U® WS & dad fod e o
under head. PRI g ?
(A) Salaries (A) G
(B) Profits from business and (B) IR ierar I A
profession :
(C) Capital gains © Txﬁ e
(D) Income from other sources (D) 313 Il o
57.  The deduction allowable in respect ~ 57. 3= ARMEI 9 T NI § xR I
of family pension taxable under IRIR U9 § § derdl Herd g
“Income from other sources” is : (A) Yo B TH—FeTs
(A) 33'/3% of the pension (B) T BN 30% AT 15000 T T T
(B) 30% of the pension or A
Rs.15000 whichever is less
(C) 33'4% of the pension Rs. © G 1 0 el A1 15000 %, S
15000 whichever is less o
(D) Nil (D) I
58.  Maximum exepted amount of 58.  BHTN gRT 9 off T ‘Eg%?ﬁ ® 9ol §
encashement of carned leave U YhH Hl Ihaq o e CUEIE
received by an employee is : (A) 200000 &
(A) Rs.200000 (B) 135360 ®
(B) Rs.135360 (©) 240000 %
(C) Rs. 240000
(D) Rs. 300000 (D) 300000 %
59. Maximum amount of exemption in 59. Bedl & PR éﬂﬁ{% Dl ARHTH IR
case  of  compensation  on LCRAIN 2
retrenchment is : (A) 300000 &
(A) Rs.300000 (B) 400000 &
(B) Rs.400000 (©) 500000 T
(C) Rs.500000
(D) Rs.600000 (D) 600000 %
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60. The comercited pension, in case of  60. TUd HHART B ‘ja}é IS EE R
employee, does not get gratuity T SH U Th T W —I
shall be Taxable ? 2 2
(A) 1/3 of total pension (A) T or @1 1/, T
) 3
(B) 2/3 of total pension B) @ YeF @1 2/, 0
(C) 1/4 of total pension ® % o 7 ’
(D) 1/2 of total pension © @1/
(D) Tl UeTT 1"/, W
61. In the case of non-govt. employees 61. IR WIN FHIRI o & ﬁa{é ol
covered by the payment of gratuity SUGIE g 1972 & oFavid 3d ©
act 1972, what is the maximum ST o R Gy W & fHaH
amount of gratuity exempt from SRR
Tax ? |
(A) 1000000 /—
(A) Rs. 10,0000/-
(B) Rs. 2,50000/- (B) 250000/
(C) Rs. 20,00000/- (C) 2000000/~
(D) Rs. 500000/- (D) 500000/ —
62.  Gratuity received by a govt. 62. TS INGN HHARI B U Gratuity
Employee is & w7 A ¥ |
(A) Fully Exempted (A) W R
(B) Partly Exempted (B) i &% ey
(C) Fully Taxable © T TR
(D) Exempted upto Rs. 1000000/-
(D) % 1000000/ — Teb I Fadi
63. The periodic payment of money  63. ﬂjﬂ%@i T ARl & 95 H THI-9HY
for the past is known as : W e el Il o ded 2
(A) Pension (A) o
(B) Commuted pension (B) orT ) T afdn
(C) Gratuity 0) -
(D) None of these ( _
(D) T ¥ BIg 2l
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64. Maximum amount of exemption in ~ 64. W W AT T H W Eﬁ%ﬂ{ﬁ
case of compensation on valuntity Pl ARHTH IR T IR g ?
retirement 1S (A) % 400000/ —

(A) Rs. 400000/- (B) 5 500000,/—
(B) Rs. 500000/- () % 800000/~
(C) Rs. 800000/-

(D) Rs. 10,00000/- (D) % 10,0000/~

65.  Amount received from recognized ~ 65. W@lMgd B W YA WASTC HUS |
provident fund at the time of ureT I3 He qad 2l 2
retirement is exempt. (A) % 300000 /—

(A) Rs. 300000/- (B) 5 500000,/—
(B) Rs. 500000/- (©) % 10,0000 /—
(C) Rs. 10,00000/-

(D) Whole amount (D) W A

66. On retirement of govt. employee 66. TRORI FHAN B JABII TEU TR |
exemption is available on : PR e =
(A) A committed value of (A) Yo & TP T NIt

pension (B) W N
(B) Amount of gratuity
(C) Encashment of earned leave © ?ﬁﬁiﬁ T AT
(D) All of these (D) e &

67. Deduction for other expenses 67. HEM FHERT W A B TEN A THI
except for interest in the AN Bl BledR I AT & T
computation of Income from Hrdl & A R
House Property is allowable to the (A) T T Bl s
extent of : ®) afiT e @ o
(A) '/s of Annual Value
(B) '/4 of Annual Value © e e @1 30%

(C) 30 % of Annual Value (D) W fawed @t '/,
(D) '/, ofrent Value
Series-A LL.B613 /392 Page - 17



68.  Suresh purchased a house for his  68. {:R?T T g 2019 W WU R W B
residential purpose after taking a & P HbE WRIET| Td 99 2020—21 H
loan in May, 2019. During the O W 210000% @ AT
Previous year 2020-21 he paid AT W arg & T ey §
Interest on loan Rs. 2,10,000 . In
computing income from house TN A A
property the deduction is allowable (A) 210000 ®
to the extent of : (B) 100000 %

(A) Rs. 2,10,000 (C) 75000 %
(B) Rs. 1,00,000 (D) 200000 %
(C) Rs. 75,000

(D) Rs. 2,00,000

69. Interest on loan paid prior to 69. a9 AT | Cjﬁ ESH R UKIN TS
completion of construction of T Bl R Bl & forg, AT &
house shall be allowed as (A) 2 vt § 2 frey A
deduction. | B) 3 T 3 S
(A) In 2 Installments Tn2 years ©) 4 a5 3 4 Py
(B) In 3 Installments in 3 years _ _

(C) In 4 Installments in 4 years (D) 5 T 5 ol
(D) In 5 Installments in 5 years

70.  Interest paid Rs. 1,20,000 on loan ~ 70. ¥a¥ & & & AGM & AATIRU T
taken in the in the previous year ¥ 2020—21 H fHU TT FIT W 120000
2020-21 for the renovation of self- & &5 U1 qe gy ¥ g @
occupied house. In computing o B 3w A Y
income from house property the
deduction 1s allowable to the (&) 120000 T
extent of : (B) 100000 ®
(A) Rs.1,20,000 (C) 30000 %

(B) Rs. 1,00,000 D) T3
(C) Rs. 30,000
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71.  The annual value of vacant house ~ 71. oRT 23Q)b) # affd @l &
property referred to in sec. THH—T9RT BT IH b 2N
23(2)(b) shall be : (A) TR Il 7
(A) Municipal value B) SPE fwm
(B) Fair rent (©) i R
(C) Standard rent
(D) Nil (D) 3

72.  For income tax purpose, the house ~ 72. 3MIPR & IeIT & foll A & M
means : 2
(A) Dwelling house (A) & BT GHH
(B) Building for office use (B) g & o 3@

(C) Godown
(D) Above all are included in the © e
House (D) w&M # A W |ftAferd &

73. The maximum deduction of 73. fiR® W 3T gU HPIA & fomior & forg
interest on loan taken for T 0 W) G Bl IAhds dHeldl
construction of house given on G 2
rent s (A) 150000 %

(A) Rs. 1,50,000

(B) Rs. 1,00,000 (B) 100000 =
(C) Rs. 30,000 (©) 30000 %
(D) No limit (D) @I ¥ Tl

74.  Income from the house for self 74. W & FUR & SYIN H I drel
business is : TH DY T BN B
(A) Net profit (A) T§ o™
(B) Fair rent (B) SR R
E[C); Il:[illlmclpal value (©) T T .

(D) L3
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75. X purchased a house for his 75. TR A WY B & B AHH 2012 H
residence and borrowed a loan of B fHar 9 W) IS99 975000 & 0T
Rs. 9,75,000 in 2012. The form =Tor @ BT B, el T 99
deduction of interest will be when ¥ 27 T 150000 F 2|
interest payable in previous year is
(A) 30,000 %
Rs. 1,50,000 :
(A) Rs. 30,000 (B) 175000 ®
(B) Rs. 1,75,000 (C) 150,000 ®
(C) Rs. 1,50,000 (D) 45000 ®
(D) Rs. 45,000
76.  The annual value of self occupied  76. I & W@ & T &I aiid Hed B
house is : 2
(A) Municipal valuation (A) TR Trfere LIS
(B) Fair rent (B) SR R
(C) Zero (Nil) ©) T
(D) Whichever is less _
(D) STH 9 & BH &
77.  Which house property is not 77. &N A HHM GEURT I A WR-IT
charged to tax : Twre?
(A) Farm house (A) B TeY
(B) Pala.ce of ex.-ru.ler (B) ISl @1 Hgel
(C) Business building © Re g
(D) All of these
(D) T Wi
78. The annual value of a house 78.  U® HhM GERT B qD e 120000
property is Rs. 1,20,000 B and C ® 2l 39 APM & WR b Ge@Ml B
are equal co-owners of the house ¢ C ¥ B & FHM GHR J AW
B’s income from house property EhiR
shall be:
(A) 42000 &
(A) Rs. 42,000
(B) Rs. 60,000 (B) 60000 %
(C) Rs. 80,000 (C) 80000 %
(D) Rs. 1,20,000 (D) 120000 %
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79. The annual value of a house 79. UTd HPM DI 9 Nep e 40000 g
property is Rs. 40,000 standard URT 24(a) & I e Bk
decuction u/s 24(A) shall be : 2l |
(A) Rs. 8,000 (A) 8000 %

(B) Rs. 10,000 B) 10000 %

(C) Rs. 12,000

(D) Rs. 15,000 (€) 12000 ®
(D) 15000 %

80.  Arreais of rent received during 80. WA 9§ # IHRT fHRIAT 100000 ® U
previous year Rs. 1,00,000, from gaT T8 o R § Sl Ao ¢
this amount deduction shall be (A) T
allowed. (B) 20000
A) Zero
*) (C) 30000 %

(B) Rs. 20,000
(C) Rs. 30,000 (D) 50000 %®
(D) Rs. 50,000

81.  Unrealised rent supsequent to 8l. 7 Il g IRIY B Bkl W ¢d &Rl
claiming deduction realized Rs. @ 9re fomEr Il 3T 100000 % | T4
1,00,000. from this amount IR & ¥ Herd frortt
deduction shall be allowed. (A) T
A) Zero
) (B) 20000 &

(B) Rs. 20,000
(C) Rs. 30,000 (€) 30000 ®
(D) Rs. 40,000 (D) 40000 %

82. The base of computation of 82. 'H&M UK ¥ ¥ Me & I
income under the head ‘Income 3T UM G YR BT &
from House Property’ is : (A) TR Trfere 7o
(A) Municipal value (B) wTel wma
B) Rent received
®) (C) HF® [

(C) Standard rent
(D) Annual value (D) et
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83. Municipal taxes to be deducted 83. WHE & Tdd NG qed i 9
from GAV should be : TRTfTRT Y @) derdl [Herf
(A) Paid by the tenant during (A) T a9 ¥ fRRER R e T
previous year B) T T § T A g R
(B) Paid by owner during
previous year i
(C) Accrued during the previous (©) T T
year (D) T ¥ fo=i &1 =7
(D) None of these
84.  The received Rs. 60,000 as arrears 84. 9 a¥ 2020-21 § A DI IHIT R B
of rent during the previous year 60000 & W U | RT 25 A D g
2020-21. The amount taxable FRa Ry Bnf
Under Section 25(A) would be : (A) 60000 F
(A) Rs. 60,000
(B) Rs. 42,000 (B) 4200 =
(C) Rs. 40,000 (€) 40000 &
(D) Rs. 30,000 (D) 30000 %
85. The term “used in the course or 85. ORI BT AW delq & SR ugad Pl
furtherance of business means : I
(A) It should be directly (A) 39 TR YT SAG Bl i
corealeted to output supply R A
®) I;;;S;Zj to used In course (B) GOR & QR WART @I I
(C) In is used in the course of €l
business (C) =¥l AT S B for far
(D) It is used in the course of T &
business for making out ward (D) =Y Cjﬁ @ I Bl JAH B
supply. HNERCECH
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86.  Weather credit on inputs should be 86. qT gTYC W PISC DI SUANg, AT Dl
availed based on receipt of uiftg 31 dT yuai @ it W @ ol
document or receipt of goods: 3
(A) Receipt of goods (A) 7 2 TR
(B) Receipt of documents
(C) Both (A) and (B) ®) o 1 _

(D) Either receipt of document or © (A9®) <
receipt of goods (D) ATl BT T Sore AT B

87. In case supplier has deposited the 87. 3Ife E{ﬁ'cb_cﬁ gRT @R, 91 @ fer g
taxes but the receiver has not R YU IR CER NG -,-Sra ]
received the document, is receiver Ut credit @1 GRIERY T
entitled to avail credit ? (A) T TS A TR AR ¥ g
(A) Yes it will be auto populated S 2 2

in receipt monthly return
(B) No as one the condition is not (B) Tl ALY I\P[ T &l 8|
full filed (C) &, 3fe e a1e 4 Rig @) < b
(C) Yes, if receiver can prove o T & g & |
later that documents are (D) Gﬂ?j‘cﬁ Y R TR
received subsequently
(D) None of the above

88.  Input tax credit on capital goods 88. q\TrﬂTIH T AR gTYc W gTYc N
and inputs can be availed in one dfec Th fohud /qg‘ﬁ;g‘ﬁﬁ T IUAE
installment or in  multiple B 2
installment : A) i e 3
(A) In thirty six installment _

(B) In twelve installment B) & el &
(C) In one installment (©) @ fbxd i
(D) In six installment (D) foreat A
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89.  The tax paying documents is : 89. BN ghdl JuA g
(A) Bill of entry, invoice raised (A) Yo% fad, RCM @1 = gfcar
on RCM supplies extive w® P e e
(B)  Acknowledge copy of tax
paid to department ® x o o Rﬂw ?
(C) Supply in price by the
recipient ©) e & tﬂ%‘[ Ao
(D) Any of the above (D) W q Pl T
90.  The time limit to pay the value of ~ 90. Y <a¥ Hisc I Iudlg & fordl, o
supply will taxes to avail the input afed cﬂ%‘[ D YA @1 T A 2
tax credit ? (A) & TR
(A) Three month B) © G
(B) Six months
(C) 180 fed
(C) 180 days
(D) Till the date of filing of (D) i faae A R TP
annual return
91.  Can the recipient avail the inputs 91. 3fg tﬁ'cb_cﬁ ®T 180 o7 & 3 il
tax credit for the part payment of YAM aRd N §GE B IUAY
the amount to the supplier with |
180 days ? .
(A) Yes, on full tax amount & (&) t‘[\ﬁ R R D A S
partly value amount cﬂ%‘[ Nk
(B) No, he can’t until full amount (B) &I, 9§ & fd Qiciaha I Fwgoi
is paid to supplier Nt ﬂ'cb‘lg S 2
C) Yes, but proportionately to : .
“ the extent (I))f VI:ﬂue tax pa}ild © & grar AR 3 i
(D) Not applicable (D) il
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92.  Depreciation on tax component of  92. Trﬂ"'l_d Md R e g T @
capital goods and plant & 1 B PR GE 9TST W BN Bl gral
Machinery is claimed, weather PR R R g e SH R M‘\Igpd =3
input tax credit is permissable : (A) &

(A) Yes ®)

B) No

Ec; Input tax credit is eligible if (C) TR AT R FRI Tl o
deprecation on tax ENERRE S HfeT PN IET &
component is on at availed (D) W 4 Brg el

(D) None of the above

93.  What is the maximum time limit to 93. sYc cHd wfse @ <T@ dRA DI
claim the input tax credit ? Jfepaq GHg 9T &

(A) Till the date of filing annual (A) T fraeo a8 Eﬂﬂﬁ a5
return (B) omT i af & Riowr w8 A
(B) Due date of September month N
which is following the _ _
financial year © @) @_(B) ﬁ qﬁa?ﬁ
(C) Earliest of (A) or (B) (D) (A) Td(B)H weamad
(D) Later of (A) or (B)

94. Banking company or financial 94. BT HEAI AT AT WRIAM BT grar
institution have an option of e B = fadpey Ui 2 -
claiming (A) T BT AT 50% HiSe
(A) Eligible credit or 50% credit (B) S99 50% e
(B) Only 50% credit (©) Bad e e
(C) Only eligible credit _

(D) Eligible credit and 50% credit (D) et PIET Td 50% Afse

95.  What is the time limit for issue of  95. ®Uc, fAegT qU 3T 9ol & fouT &
order in case of fraud, Al H eyl e &) 99— &
misstatement or suppression ? (A) 30 W8
(A) 30 months (B) 18 HTE
(B) 18 months ©) 5 f
(C) 5 years
(D) 3 years (D) 3 Gl
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96.  What is the time limit for issue of ~ 96.  @uc, feam qui ferar dedt & foura &
order in case of other than fraud, < 9Mal § oy HH @ 9Hg
misstatement or suppression ? A 2
(A) 30 months (A) 30 78
(B) 18 months (B) 18 T8
(C) 5 years o 5
(D) 3 years ED; .

97. Is it obligatory on the part of the  97. <U¥ fORIH & SRM HReIAT gNT Ud
department to take on record the TAIdT TBIs Bl N gRT Redls e
assessee’s representation during 3NTTITF T
zzh)ud;{caﬁon and issue of order ? (A) @

(B) NZS (B) T - o
(C) At proper officer’s discretion (©) THR R Iy
(D) If requested by notice (D) 3IfE FfCH §RT 3 ﬂé oI &

98. What is the maximum number of  98.  f&l Wﬁ B JRHTH fhdd 9R
times a hearing can be adjourned WG fhar & Gl & -
*) 1 (A) TR
% z B) 99 TR
(D) None of these EIC); s_z? 7%

99.  Whether the amount of tax, 99. @ &9 Ud 3JcUe & 3N § AN
interest and penality demanded in Ts W Afew ¥ fAfde 9y 9 aife
the (.)rder.can exce.ed the amount 2 gl T
specified in the Notice : (A) &

(A) Yes B)

(B) No ot

(C) At proper officer’s discretion (€) ¥R 3 E Eﬁ I
(D) None of these (D) ¥ ¥ PIY el

100. s there any time limit for issue of ~ 100. I UG & & oMl Tl I TR,
notice in cases where tax collected aifey foetaa g9 S qar € ?
but not paid ? (A) Pls THT G T
(A) No time limit (B) 1 ai
(B) 1 year ©) 3 -

(C) 3 years Dy 5
(D) 5 years (D)
Xdhkdkkk
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET). Answer marked anywhere else other than the

determined place will not be considered valid.

Please read all the instructions carefully before attempting anything on
Answer Booklet (O.M.R ANSWER SHEET).

After completion of examination please hand over the Answer Booklet

(OOM.R ANSWER SHEET) to the Examiner before leaving the

examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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